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Which of the following four theorists are associated with the early
human resources approach?

(A)Owen, Munsterberg, Taylor, and Fayol

(B)Mayo, Barnard, Gilbreth, and Follett

(C)Follew, Owen, Mayo, and Weber

(D) Barnard, Munsterberg, Owen, and Follett.

(E)None of above

The pressure to conform in groups is known by which of the following
[ETms:

(A)Management by objectives

{(B)Shirking

{CYGroupthink

(DYGroup freeloading effect

(E)MNone of above

The greater the environmental uncertainty, the more plans need to be
o and emphasis placed on the
(A)strategic, long-term

(B)single-use, short-term
(C)operational, long-term
{D)directional, short-term,

(E}MNone of above

Which of the following is not one of the four commen clements of
Management of Objectives (MBO)?

(A) goal specificity

{B) participative decision

(C}a systems loop

(D) performance feedback

(E) None of above

The failure of U.S. automakers in the 1570 to recognize and respond to
consumer demand for smaller cars is considered a failure in whal
type of analysis?

(A} Forecasting

(B} Benchmarking

(C} Environmental scanning

(D)} Accounting recovery.

(E) None of above

Understanding the validity of employee selection methods would be
considered a skill for a human resource manger.

{A)}human

(B} technical

(C) conceptual

(D} functional

(E) None of above
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If a computer operator refuses to follow the order from lis supervisor
that he should not wear earnings to work, the computer operator works
under what view of authornity?

{A) Acceptance theory

(B) Military

{C) Organic

{D)Classical

(E) Contemporary

Which of following is the least valid predictor for jobs demanding
routine operations?

{AjApplicant’s personal judgement

(B)Physical operation test

(C)Check if application information is correct

(I3yReference check

()} Real work sample attached

What kind of tactics is mostly used tor alleviating employees’
resistance to changes and to make employees receive the full facts and
clarifications?

(A)Participation

(B)Education and communication

(C)Manipulation

(D)Facilitation and support

(E} Negotiation

How should a management group work on a reengineering process”?

{A)Change only those sure parts

(B)Change the factors aflecting long-term inetficiencies,

(CYRecruit a group of new employees to work with the old system.

(D) 're-set a plan and totally patch the system

(E) Totally change the management group to cope with the current
system.

Increasing all types of training and stressing team-work idea all over
the company are suggestions to implement TOM in which type of
organization?

(A) Medium performance

(B)yHigh performance

{C)Any types of organizations

(D) Mol for any organizalions

(E)Lower Performance

Which of following statements best describing relationship between
reengineering and TQM?

(AYThey are no ditference

(B} TOM starts with reengineering

(C) They are highly ditterent

([} Both require decentralized participative decision making

(F) Reengineering begins with TQM
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13, The management group in the ASIC company decides to give

14.

16.

18.

employees more authority and say in decisions. This is an example of 7
{A)Empowerment

{B) Confidence

(C) Authority

(D) Control

(E) Power

Determining follower readiness is determined by which of the
following?

(A) follower ability / willingness to take responsibility

(B) follower ability = willingness to take responsibility

(C) follower ability + willingness to take responsibility

(D) follower ability - willingness to take responsibility

(E) follower ability

Which of the following is true about delegation?

(A} lmportant decisions tend to be delegated.

(B)Upper management should not delegate technically difficult tasks.

{C)The organizational culture impacts the amount of delegation.

(D) Management should delegate to low-skilled employees to indicare
confidence,

(E)Delegation is an etfective means of motivating an employee.

If a previously successful company goes bankrupt, and the employees
see their C.E.O, as ineffective and unintelligent, regardless of the real
unpact hefshe had on organizational performance, this would be
consistent with which leadership theory?

{A) path-goal

{B)situational

(Chattribution

(D) contingency

(E)trait

Situational leadership theory focuses strongly on
(A) Leaders

( B)situations

{C)iollowers

(DY} contexts

{E)environments

Performance-based compensation is probably maost compatible with
which motivational theory?

(A) equity theory

(B)egoal setting theory

(C)job characteristics model

(D)} expectancy theory

(E)reinforcement theory
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19. Which of the following is nof a way to overcome communication
barrigrs?

{A) Feedback

(B)simplify language
(C}listen actively

(D} prioritize communication
(E)constrain emolions

20, A retiree who goes back to college to gel her degree because she always
wanted to know if she was capable, iy satisfying what need?
(A) physiological
(B)salety
(Chsocial
(D} esteem
(E)self actualization
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